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Example 3: Automatically Generated Report

The following report is for the ItsAWrap class of example 2. This report is generated by the totally automated, unfiltered Mango process. The cases are
not mutually exclusive because the hypotheses required to prove the conjectures made in the clear() routine are missing. Development of the new
HintManager is underway to address this problem manually, but automated solutions would greatly increase the power of the tool. The red underlined
references are to byte code, but eventually will redirect to source code. An option to filter out cases which throw exceptions will soon be added. This
eliminates a lot of clutter, but is not a good thing to do if exceptions are a part of nominal execution. In time more selective filtering of exceptions will be
available. Also, certain cases could be consolidated via linear arithmetic, which exists in the tool but is not currently hooked up. Cases which just drop off
the edge are artifacts of the graph traversal algorithm, easily filtered out.

Report for tsAWrap



hazeling
It=ilrap
clear{[IW
48: for(int i=B;i<l8;++13 [1]
41r x[i]=8; [1.1]

-1: #0: ArravIndexOutOfBoundsException [1.1.1]
Hypothesiz: x iz defined
Conjecture: i* is greater than or equal to length of the arroy = OR i* is less than A

Throws: java.lang.AsrrayIndex0ut0fBoundsException.

-1: #: NullPointerException [1.1.2]
Hypothesiz: x is undefined

Throws: javd.laong.Nul lPointerException.

43: F [1.2]

Conjecture: i* iz greoter thon or equal to 1@
Stgok ¢ emens

No return value.

48 for{int i=@;i<l@;++i3{ [1]

hypotheses
Hypothesiz: i is greater than or equal to 8
Hypothesiz: i iz less than length of the array x
Hypothesiz: opA is less than 18
Hypothesiz: x is defined

¥[i] =8

i=1+1

opf = 1+ 1

maing [13Z
320 cleardx); [1]
-1: Bod exit [1.2]

free choice.l
Hyvpothesiz: x is undefined

-1: throw_all boseline.ltsabrap.nain{[I)2 [1.1.1.2] -1
output heap of #12_ilogd_i=loopls Hyp
Throws: java.lang.MullPointerException. ?Et

T
33 if(x([B]==x[6]3{ [1.1.1.1] g
free choice.z
331
-1: throw_all baseline.ltsAWrop.maind[I)2 [1.1.2.2] Hyp
33z iF(x[B]==x[6]{ [1.1.2.1] 34:
Lol
-1: #: ArrayIndexOutOf BoundsException [1.1.2.1.1] au
hypothezes Re
Hyvpothesis: & iz greater than or equal to length of the array =
Hypothesziz: x is defined 36
output heop of #17_ilood i=<loopls Co
Throws: jova.long.ArrayIndexOutOfBoundsException. aLy
Re
=1: #4: HullPointerException [1.1.2.1.2]
Hypothesiz: ¥ iz undefined free ch
output heap of #2_iload i=loopl= Hypath
Throws: java.lang.Nul lPointerException.
-1: th
33: Af(=[E]==x[0]3{ [1.1.2.1.3] outpu
hypotheses Thir o
Hypothesizs: B is less than length of the arroy =
Hypothesis: = is defined 33t if
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